
 
 
 
Trouve  l’ordre  de  grandeur  du  résultat,  puis  pose  l’addition  et 
calcule. 
 

728 + 151 = 700 + 200 = ____ 
 
 
 
 

 

728 + 151 = ______ 
 

Ton résultat correspond‐il à l’ordre de grandeur estimé ? 
OUI   NON  
 

108 + 387 = ____ + ____ = ____ 
 
 
 
 

108 + 387 = ______ 
 

Ton résultat correspond‐il à l’ordre de grandeur estimé ? 
OUI   NON  

 
 
 
1. Complète les additions. 
 
 
 
 
 
 
 
2. Pose les additions en colonnes, puis calcule. 
 
134 + 609  45 + 28  304 + 132 
 

3. Calcule en ligne, en écrivant les étapes. 
 

 
 

L’addition posée. L’addition posée. 


